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*/
#include<stdio.h>
FILE *infile, *outfile;
int tree[ 10000];
main()
{
int i, n, in[20], out[20];
printf("Input InFilename :");  /FAAT—EDI7AILE%E AT+
scanf("%s", in);
if ((infile=fopen(in, "r")) == NULL) {
printf("can't open file %s¥n", in);
exit();
}
printf("Input OutFilename :");  AHAT—EDI7AIL BT ANT*/
scanf("%s", out);
if ((outfile=fopen(out,"w")) == NULL) {
printf("can't open file %s¥n", out);
exit();

}

n=0;

while(fscanf(infile,"%d", &(tree[n])) != EOF) {
n++;

}

InitializeHeap(n);

HeapMain(n);

for (i=0; i<n; i++) {
fprintf(outfile,"%d¥n", tree[i]);

}

fclose(outfile);

fclose(infile);

}

HeapMain(int n)
{ FE—FV—bEITIH/
int i, k, r, tmp;
i=n-1;
while (i>=0) {
tmp = tree[0]; tree[0] = tree[i]; tree[i] = tmp;
i
k=0;r=1;
DownHeap(k, r);

InitializeHeap(int n)
{ Fe—TJEERT 5%/
inti, Kk, r;
for (i =n/2-1;1>=0; i--){
k=1; r=n-1;
DownHeap(k,r);
1
}

DownHeap(int k, int r)
{ HFE—THEELMEYET*/
int j, tmp;
j=2%k+1;
while (j <=1){
if ((§!=r) & (tree[j+1]>tree[j]))j=j+1;
if (tree[k] >= tree[j]) {
break;
}
elsef
tmp=tree[k]; tree[k]=tree[j]; tree[j]=tmp;
tmp=k; k=j; j=2*tmp+1;
}
}




